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5 *i e 3703kkxk%3%%100010 A2 1885%+%x286 73 1 =
6 * 2 3202%kxkkxx4%1 93817 A2 136244681 72 2 =
11 5 3426%kkkk40kk(05024 X A2 1595%*x092 72 2 =
10 * 3203skskotokorckok053279 A2 1304###%569 71 4 b
24 * 7 3429kkkkx4%23701 1 A2 1537#x%x502 66 5 =
30 *A% 1406%skskskskskskk 193316 A2 177 4s%s%5%414 65 6 &
28 * 7K 3424%kkxx%231014 A2 1594%%x*076 64 7 &
7 *F 3422%kkxkkx% 281229 A2 1955%*xx908 63 8 &
13 *3 3202%%kxkx%%(094212 A2 1599#*x*081 62 9 &
26 *fE 2 3307 skkkkkkk ] 46428 A2 1336%%%%821 61 10 &
14 *fE 37 15%kkk44%k%263327 A2 1317*x%%836 59 11 &
31 * TR 320 k44233015 A2 1529%#xx028 59 11 5
18 *3% i, 411 5%kkkxx4%230540 A2 1565%%%%667 58 12 &
1 *F Iy 411 Dksskkrkx052524 A2 1829%*%%762 57 13 %
2 *2T 5 2302%skkokorokk 283121 A2 1530%*%x709 B &
3 *% 16 3203ksckkrk060824 A2 136 13#5%639 R 15
4 K2 440 T skrrxkkk 1 70029 A2 173044728 B &=
8 *|3] 321 3skkaokrork [ 93631 A2 1533444475 i 5
9 * K, 321 3skkkrkkonk ] 85234 A2 187544299 B &=
12 * 3203tk 56027 A2 1505%##x442 R o
15 * K 3203kkkkkkk%203439 A2 18854209 B &=
16 *# 3202%ksk545%06251 1 A2 153 13kkxT17 R 15
17 * 3408kkkkkkxk024427 A2 18894804 B &=
19 *T B 3402skkskokokx 241010 A2 1569%#+*806 R &
20 o 3207 xsokkokoiokk201013 A2 1516%*%x131 R &
21 * 3 AF 3706%kkskks5x1 10027 A2 1836%+3%129 i 5
22 *fE HE 3202%kxkkxx4%243012 A2 18854383 B &=
23 *Hh 3209skkkkkkkk 1 74014 A2 19894026 s &=
25 1R I 3206%kxkkkk4%] 32639 A2 1896198 B &=
27 *5 # 321 0skskrrrknk ] 90439 A2 18864668 B &=
29 *H A 3207kt 1 188X A2 153 I3kkx409 R 15




